/NS 3 LA L f- NS PNEIL A

NG TR
Doy — T E=ANT =
iz HIR a— R4
FH-a—R
58 RE  B—ER 2 Z— |k Hh S 430m
T 4=y s 280m
ks =y FAT  MEEAZE 7 150m
SR 800m
1AH 2 KH
a—2k .y H— a— Ry X — WBE  pK—AB
HIAESR - A - A PEX
HIAESR - B - AR ®E
HIAEHR - C -~ G A
ISR - D - I B9
TEF 2K OPEN A A — R TR %K OPEN AR — KRR
PR3 EH K E=1
22—/ T =2 RIE AH—=1/T 4=y aRIR
F=1010
JIERE Af=b =R N X5 &< 1ARH 2KRH & i =X
No No K4 B 4 S R 1 B (N L I N A
1 1 m &= LN AWANEZY N 40.76 42.86 1:23.62 0.00
2 3 il A6 LN AWANEZY N 52.29 52.66 1:44.95 257.63
3 2 IR 1T BE FOOREFHE 55.64 54.07 1:49.71 315.13
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
it =R fth
24.02.11 / G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



INFRE S LU 5B 1 B KEEE
NG TR
Doy — T E=ANT =
iz HIR a— 24
FH-a—R
58 RE  B—ER 2 Z— |k Hh S 430m
T 4=y v a i 280m
ks e d=bry FAT  MEEAZE o 150m
ey 800m
1AH 2 KH
a—2Af v H— a— Ay X — WE FE—ER
HIAESR - A - A PER
HIAESR - B - AR ®E
HIAEHR - C -~ G A
ISR - D - I B9
TR %L OPEN A A — R TR %K OPEN AR — KRR
KAz EH KA E=1
A — N7 4=y RIR AE—/T 4=y a2 RIE
F=1010
JIEAL Ap=} =R N X5 &< 1 AKH 2KRH & i =X
No No K4 B 4 i 5 I 15 N (= N 13 I NP G N
1 6 JIIE —¥8 + BT TS 36.56 35.32 1:11.88 0.00
2 10 FA PN + HBHITHTA-1HES 42.42 40.80 1:23.22 159.34
3 8 AN NN N + HBHITHTA-1HS 41.22 43.67 1:24.89 182.81
4 14 i LN AWANE 2 48.81 4598 1:34.79 321.91
5 13 AHN A LN AWANEZY N 48.51 46.99 1:35.50 331.89
6 7 g OEA [N AWANE 2 49.13 46.53 1:35.66 334.14
712 st LN AWANEZY I 59.92 52.35 1:52.27 567.53
8 5 AN NI FOOREEH 59.43 58.23 1:57.66 643.26
9 11 HE WA LN AWINE 2 1:00.32 58.71 1:59.03 662.51
10 9 oW & LN AWINE 2 1:00.15 59.23 1:59.38 667.43
11 15 EERER LN AWINE 2 1:03.14 1:00.71 2:03.85 730.24
DID NOT START [1st RUN]
DID NOT FINISH [1st RUN]
24.02.11 / G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



INFER B LI B

JERL Ap—b =N B 1AH 24KH & %~k$§2
No No K4 Br & 4 1 1= = O 7 BN (= S 3 A 2 I N
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0

BIfRE HR

24.02. 11 / G8/ 2

DATA PROCESSING by SE I KO TIMING by SET KO



IINEERRE A B RE KlEE
Doy — T E=ANT =
iz HIR a— R4
FH-a—R
58 RE  B—ER 2 Z— |k Hh S 430m
T 4=y s 280m
ks =y MRS HEEREE 7 150m
SR 800m
1AH 2 KH
a—2k .y H— a— Ry X — WBE  pK—AB
HIAESR - A - A PEX
HIAESR - B - AR ®E
HIAEHR - C -~ G A
ISR - D - NI B
TEF 2K OPEN A A — R TR %K OPEN AR — KRR
PR3 EH K E=1
22—/ T =2 RIE AH—=1/T 4=y aRIR
F=1010
JIERE Af=b =R N X5 &< 1ARH 2KRH & i =X
No No K4 £ B R KR B K B &AMV b
1 20 W T A E 36.30 35.55 1:11.85 0.00
2 21 il T LN AWANEZY N 44.20 4533 1:29.53 248.53
3 19 e Bk JEHEEY Am AR5 46.09 46.66 1:32.75 293.79
4 22 | FE LN AWANEZY N 54.75 50.00 1:44.84 463.74
5 23 FE JEHEEY Am AR5 52.88 53.45 1:46.33 484.69
DID NOT START [1st RUN]
DID NOT FINISH [1st RUN]
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
24.02.11 / G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



IINFERE A A

F=1010
NARL 2=} = A LAH 2KH & & L—XA
No No KA proJ& 4 15 S I 13 I 1 A IV

DISQUALIFIED [2nd RUN] 0

BIfRE HR

24.02. 11 / G8/ 2

DATA PROCESSING by SE I KO TIMING by SET KO



INERE A R A RE KlEE
Doy — T E=ANT =
iz HIR a— R4
FH-a—R
58 RE  B—ER A K — S 430m
T 4=y s 280m
ks =y MRS HEEREE 7 150m
SR 800m
1AH 2 KH
a— 2y K — a— Ry X — WBE  pK—AB
HIAESR - A - A PEX
HIAESR - B - AR ®E
HIAEHR - C -~ G A
ISR - D - NI B
TEF 2K OPEN A A — R HEFT 2K OPEN AR — KRR
PR3 EH K E=1
22—/ T =2 RIE AP —r/T 4=y 2RI
F=1010
JIERE Af=b =R N X5 &< 1ARH 2KRH & i =X
No No K4 B 4 S R 1 B (N L I N A
1 26 HE A FOoDRLE R 39.50 38.08 1:18.48 0.00
DID NOT START [1st RUN]
DID NOT FINISH [1st RUN]
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
DISQUALIFIED [2nd RUN]
it =R fth
24.02.11 / G8/ 1
DATA PROCESSING by SE I KO TIMING by SE I KO



IINFERE 5 A BA KA

NG TR
Doy — T E=ANT =
iz HIR a— A4
FH-a—R
58 RE  B—ER 2 Z— |k Hh S 430m
T4 =y o R 280m
ks =y FAT  MEEAZE o 150m
ey 800m
1AH 2 KH
g— Ay H— a— At v H— WBE R—ER
AiE#E - A - A PER
AiE# - B - AR ®E
AiE#E - C - G A
ISR - D - I B9
TR %L OPEN A A — R TR %K OPEN AR — KRR
KAz EH KA E=1
2B —KNT 4= KR AH—=1/T 4=y aRIR
F=1010
JIEAL Ap=} =R N X5 &< 1 AKH 2KRH & i =X
No No K4 B 4 R [ RF M BF B A2 b
1 31 I BIE LN AWANEZY N 34.80 35.41 1:10.21 0.00
2 34 P BRAE JEHEEY 227 A%—)57° 38.00 38.20 1:16.29 87.46
3 29 = R JEHEY 12T A% 57 39.54 41.44 1:20.98 154.93
4 35 = OEY JEHEY 12T A%—)57" 41.53 42.46 1:23.99 198.23
5 33 mii K ER AR INFAR 48.15 46.13 1:34.28 346.26
6 32 /N VR A E 52.78 54.49 1:47.27 533.12
DID NOT START [1st RUN] 1
30 Fll BarEHF + A BT A¥-777°
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
24.02.11 / G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



IINFERE 5 A

F=1010
JIERL Af=b -h R 1AKH 2AH & #H  L—x
No No K4 B 4 R [ RF 0 BF R AA 2B
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0

BIfRE HR

24.02. 11 / G8/ 2

DATA PROCESSING by SE I KO TIMING by SET KO



IINFERE B AR A BE KEER

NG TR
Doy — T E=ANT =
iz HIR a— R4
FH-a—R
58 RE  B—ER 2 Z— |k Hh S 430m
T4 =y o R 280m
ks e d=bry FAT  MEEAZE o 150m
SR 800m
1AH 2 KH
a—2k .y H— a— Ry X — RE  a—ER
HIAESR - A - A PEX
HIAESR - B - AR ®E
HIAEHR - C -~ G A
ISR - D - I B9
TR %L OPEN A A — R TR %K OPEN AR — KRR
KAz EH K E=1
2B —KNT 4= KR AH—=1/T 4=y aRIR
F=1010
JIEAL Ap=} =R N X5 &< 1ARH 2KRH & i =X
No No K4 B 4 S R 1 B (N L I N A
1 40 P Ak A E 35.70 35.75 1:11.45 0.00
2 39 &g B A + BT HA-1HS 36.90 36.72 1:13.62 30.67
3 38 B BE [N AWANE 2 43.91 4358 1:27.49 226.74
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
it =R fth
24.02.11 / G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



TN 6 AR A - RE KlEE
Doy — T E=ANT =
iz HIR a— R4
FH-a—R
58 RE  B—ER 2 Z— |k Hh S 430m
T 4=y s 280m
ks =y MRS HEEREE 7 150m
SR 800m
1AH 2 KH
a—2k .y H— a— Ry X — WBE  pK—AB
HIAESR - A - A PEX
HIAESR - B - AR ®E
HIAEHR - C -~ G A
ISR - D - NI B
TEF 2K OPEN A A — R TR %K OPEN AR — KRR
PR3 EH K E=1
22—/ T =2 RIE AH—=1/T 4=y aRIR
F=1010
JIERE Af=b =R N X5 &< 1ARH 2KRH & i =X
No No K4 B 4 S R 1 B (N L I N A
1 44 il BE LN AWANEZY N 36.72 36.57 1:13.29 0.00
2 46 Wi FiJ LN AWANEZY N 37.21 36.94 1:14.15 11.85
3 43 ME M9 TEHEEY 227 A%—)57° 37.64 39.10 1:16.74 47.54
4 45 BAR B B3 FODRLFE R 38.75 38.16 1:16.91 49.89
DID NOT START [1st RUN]
DID NOT FINISH [1st RUN]
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
24.02.11 / G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



IINFERE 6 AT

F=1010
NARL 2=} = A LAH 2KH & & L—XA
No No KA proJ& 4 15 S I 13 I 1 A IV

DISQUALIFIED [2nd RUN] 0

BIfRE HR

24.02. 11 / G8/ 2

DATA PROCESSING by SE I KO TIMING by SET KO



IINFERE 6 AT A BE KEER

Tal— T =T — K
iz HIR a— R4
FH-a—R
58 RE  B—ER A K — S 430m
T 4=y s 280m
ks =y FAT  MEEAZE o 150m
SR 800m
1AH 2 KH
a— Ry H— O—A¥ v H— WRE k—E8
HIAESR - A - A PEX
HIAESR - B - AR ®E
HIAEHR - C -~ G A
ISR - D - NI B
TEF 2K OPEN A A — R HEFT 2K OPEN AR — KRR
PR3 EH K E=1
22—/ T =2 RIE AP —r/T 4=y 2RI
F=1010
JIERE Af=b =R N X5 &< 1ARH 2KRH & i =X
No No K4 B 4 S R 1 B (N L I N A
1 49 A MZ% LN AWANEZY N 33.24 32.81 1:06.05 0.00
2 51 HE KM FOoDRLE R 33.66 33.29 1:06.95 13.76
3 52 o &% LN AWANEZY N 34.14 33.99 1:08.13 31.81
4 54 HH 54 LN AWANEZY N 34.18 35.07 1:09.25 48.93
5 53 IR AR FOoDRLE R 37.35 36.54 1:13.89 119.88
DID NOT START [1st RUN] 1
50 B Bt + HETA%—77"
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
24.02.11 / G8/ 1

DATA PROCESSING by SE I KO TIMING by SET KO



IINFERE 6 AT A

F=1010
JIERL Af=b -h R 1AKH 2AH & #H  L—x
No No K4 B 4 R [ RF 0 BF R AA 2B
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0

BIfRE HR

24.02. 11 / G8/ 2

DATA PROCESSING by SE I KO TIMING by SET KO



WA 2 - BA KA
Doy — T E=ANT =
iz HIR a— R4
FH-a—R
58 RE  B—ER A K — S 430m
T 4=y s 280m
ks =y MRS HEEREE 7 150m
SR 800m
1AH 2 KH
a— 2y K — a— Ry X — WBE pk—#
HIAESR - A - A PEX
HIAESR - B - AR ®E
HIAEHR - C -~ G A
ISR - D - NI B
TEF 2K OPEN A A — R HEFT 2K OPEN AR — KRR
PR3 EH K E=1
22—/ T =2 RIE AP —r/T 4=y 2RI
F=1010
JIERE Af=b =R N X5 &< 1ARH 2KRH & i =X
No No K4 B 4 S R 1 B (N L I N A
1 57 EHEE OBk + HE 277" 37.51 37.42 1:14.93 0.00
DID NOT START [1st RUN]
DID NOT FINISH [1st RUN]
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
DISQUALIFIED [2nd RUN]
it =R fth
24.02.11 / G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



Hh R B - BA KA
Doy — T E=ANT =
iz HIR a— R4
FH-a—R
58 RE  B—ER 2 Z— |k Hh S 430m
T 4=y s 280m
ks =y FAT  MEEAZE o 150m
SR 800m
1AH 2 KH
a—2k .y H— a— Ry X — WBE  pK—AB
HIAESR - A - A PEX
HIAESR - B - AR ®E
HIAEHR - C -~ G A
ISR - D - I B9
TEF 2K OPEN A A — R TR %K OPEN AR — KRR
PR3 EH K E=1
22—/ T =2 RIE AH—=1/T 4=y aRIR
F=1010
JIERE Af=b =R N X5 &< 1ARH 2KRH & i =X
No No K4 B 4 S R 1 B (N L I N A
1 60 PSS 359 A E 31.75 31.34 1:03.09 0.00
2 61 IR EK FOoDRLE R 32.49 31.97 1:04.46 21.93
3 63 I WG A E 33.01 32.41 1:05.42 37.30
4 62 g — + BHTRF-177° 33.84 33.28 1:07.12 64.52
5 64 ME K& + HE 277" 37.11 35.88 1:12.99 158.49
DID NOT START [1st RUN]
DID NOT FINISH [1st RUN]
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]

24.02. 11 /

G8/

1

DATA PROCESSING by SE I KO

TIMING by SET KO



PR T

F=1010
NARL 2=} = A LAH 2KH & & L—XA
No No KA proJ& 4 15 S I 13 I 1 A IV

DISQUALIFIED [2nd RUN] 0

BIfRE HR

24.02. 11 / G8/ 2

DATA PROCESSING by SE I KO TIMING by SET KO



AR - B BA KR

Doy — T E=ANT =
iz HIR a— R4
FH-a—R
58 RE  B—ER A K — S 430m
T 4=y s 280m
MEEER & s 7 150m
SR 800m
a— Rty Z— Wk AR
TEF 2K OPEN A A — R
PR3 EH
AH— b7 4=y Rk
F=1010
JIERE Af=b -b HEE BgE M r—=
No No K4 gt/ 4 RA LB
1 89 O A + B ETHbRAY-) 777 44.41 0.00
DID NOT START 0
DID NOT FINISH 0
DISQUALIFIED 0
it =R fth
24.02.11 / X7 7 IV — A% —3 G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



AR 1 C BA KR
NG TR
Doy — T E=ANT =
iz HIR a— R4
FH-a—R
58 RE  B—ER A K — S 430m
T 4=y s 280m
MEEER & s 7 150m
SR 800m
a— Rty Z— Wk AR
TEF 2K OPEN A A — R
KAz EH
AH— b7 4=y Rk
F=1010
JIERE Af=b =R N X5 &< BgE M r—=
No No K4 gt/ 4 RA LB
1 84 [t NN i1 + H TR R A1 57" 33.59 0.00
2 85 UL KRR + HETHRSFIAF-) 77" 34.15 16.84
3 86 ARHE R + B ETHbFAY-) 777 36.38 83.89
DID NOT START 0
DID NOT FINISH 0
DISQUALIFTED 0
it =R fth
24.02.11 / X7 7 IV — A% —3 G8/ 1
DATA PROCESSING by SE I KO TIMING by SE I KO



AR D BA KR

NG TR
Doy — T E=ANT =
iz HIR a— A4
FH-a—R
58 RE  B—ER 2 Z— |k Hh S 430m
T4 =y o R 280m
ks e d=bry fRIRy s o 150m
SR 800m
a— Rty Z— Wk AR
TR %L OPEN A A — R
KAz EH
AH— b7 4=y Rk
F=1010
JIEAL Ap=} =R N X5 &< BgE M r—=
No No K4 gt/ 4 RA LB
1 79 khge — /% + HE 277" 34.17 0.00
2 77 G E— TTC 34.21 1.18
3 80 e gk TTC 34.72 16.26
4 81 = FE AN AW e 34.94 22.76
5 75 Rl KRR + HETHRSFIAF-)77" 35.26 32.22
6 76 AN=EC-YN SSK 35.87 50.25
7 78 Wi R A E 36.12 57.64
DID NOT START 0
DID NOT FINISH 0
DISQUALIFTED 0
it =R fth
24.02.11 / X7 7 IV — A% —3 G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



RAES S E BA KR
NG TR
Doy — T E=ANT =
iz HIR a— R4
FH-a—R
58 RE  B—ER 2 Z— |k Hh S 430m
T4 =y o R 280m
MEEER & s 7 150m
SR 800m
a—2k .y H— WA EEAZE
TEF 2K OPEN A A — R
KAz EH
AH— b7 4=y Rk
F=1010
JIEAL Ap=} -b HEE BgE M r—=
No No K4 gt/ 4 RA LB
171 AT BE— + BT TS 34.60 0.00
2 72 s TS + BT TS 34.63 0.88
3 70 s TTC 38.42 111.51
DID NOT START
DID NOT FINISH
DISQUALIFTED
it =R fth
24.02.11 / X7 7 IV — A% —3 G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO
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